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37 10 10
38 39 28 156
39 45 150 135 30
40 13 13 26 26

N | Rbunl | RLuwn2 | RLuwm3 | RLuwn4
41 19 17 18 16
42 14 12 13 12
43 0 4 1 3
44 5 4 5 5
45.1 &hown ufuwy) ufuuy &hownn
45.2 | &hown &hownn ufuuyg upawy
453 | &hown uhauyg ufuuyg &hown
454 | &hown &hown &hown &hown
455 | upuwy &hownn &hown upawy
45.6 | ufuuy ufuwy) &hown &hown
46 181 161 171 151
47 166 136 156 146
48 636 436 756 486
49 161 121 202 186
50 864 144 288 576
51 270 30 90 120
52 21 7 147 14
53 486 18 162 144
54 2 3 4 5
55 1 9 7 1
56 7 4 6 8
57 3 1 5 3
58 5 4 3 2
59 4 16 9 4
60 16 8 8 16
61 6 15 15 6
62 115 116 117 118
63 45 420 105 210
64.1 | &hown upaw ufuwg &hown
64.2 | upuuwy ufuwy) &hown &hown
64.3 | &hown &hownn ufuuyg upauwy
64.4 | uuuy ufuwy) ufuug uhauyg
64.5 | &hown &hownn ufuwg upawy
64.6 | &hown &hownn &hown &hown
65.1 | ujuuy &hownn &hown upawy
65.2 | &hown &hownn ufuwg upawy
65.3 | &hown &hownn &hown &hown
65.4 | &hown ufuwy) ufuu) &hownn
65.5 | ujuwy ufuwy) &hown &hownn
65.6 | ujuuy &hownn &hown upawy







